BA: AHARA
F: Y2 X S5 AR (sEHLSM/sY - 5E)

Bt A FEae (&= &)
2A -3 - c9(3) - MEAY - BES Off &t o4 I3 Hus2
5 i = B
ARTHH A A 1,252,443 1,197,443 55,000
by 206,000 206,000 0
=S 1,046,443 991,443 55,000
2R MI S AR (SEHSSN/5S - 5&) 849,029 794,029 55,000
A 206,000 206,000 0
LS 643,029 588,029 55,000
A g2 376,310 321,310 55,000
A Y BESAE 2g22 196,310 141,310 55,000
201 Br29Y| 166,310 141,310 15,000
02 SZ2H 140,810 125,810 15,000
OANLE Fdll 22570 IE SS2EH| 15,000 0 15,000
401 AIEHIZL =2 OHYI 40,000 0 40,000
01 Al&HI 40,000 0 40,000
OL=F ZeA dF EAEY 40,000 0 40,000
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